ŘEŠENÍ - 4. kolo
1.  85235 + 79435 = 164670       3.                                               6.
[image: image1.wmf]B

B

2

3

4

1

Č

Ž

M

Č

Ž

M

Č

Ž

M

Č

Ž

M

B

B

B

B

B

B

2

3

4

1

Č

Ž

M

Č

Ž

B

Č

Ž

B

M

M

B

Č

Ž

M

B

B

B

2

3

4

1

Ž

Ž

M

Č

M

Č

B

B

Č

Ž

M

B

M

Č

Ž

B

B

B

Ž

Ž

M

M

B

B

M

Č

Ž

B

Č

Č

M

Č

Ž

B

2

3

4

1

[image: image2.wmf]3

4

1

2

Č

M

Ž

Č

M

Ž

B

M

Ž

Č

M

B

B

Č

Ž

B

Č

M

B

Ž

B

2

3

1

4

M

Ž

Č

B

Ž

Č

M

B

B

Č

M

Ž

B

Č

M

Ž

M

Ž

B

Č

B

2

4

1

3

Č

M

Ž

B

Č

M

Ž

B

Č

M

Ž

B

Č

Ž

B

M

Č

Ž

M

B

B

3

2

4

Č

M

Ž

B

Č

M

Ž

B

M

Č

M

Ž

B

B

Ž

M

Ž

Č

B

B

1

Č

[image: image3.wmf]1

2

3

4

B

B

B

Č

M

Ž

Č

M

Ž

Č

M

Ž

1

2

3

4

B

B

B

Č

M

Ž

Č

M

Ž

Č

M

Ž

1

2

3

4

B

Č

M

Ž

B

Č

M

Ž

B

Č

M

Ž

1

2

3

4

B

Č

M

Ž

B

M

Ž

B

Č

M

Ž

Č

[image: image4.wmf]7

3

5

6

4

7

5

1

4

3

4

6

8

1

3

8

7

6

1

8

2

3

7

3

2

5

5

6

8

1

4

2

7

8

1

2

3

6

8

2

5

6

8

1

3

7

5

4

2

7

6

1

4

2

5

8

4

2

3

7

5

6

1

4

4.
[image: image5.wmf]C

B

A

C

A

C

B

A

C

B

B

A

B

A

B

C

B

C

A

B

C

A

C

A

B

A

C

B

A

C

B

A

C

7.
[image: image6.wmf]1

5

2

3

4

1

5

2

3

4

1

5

2

3

4

1

5

2

3

4

1

5

2

3

4

1

7

6

7

6

7

6

7

6

7

6

7


[image: image7.wmf]18

19

14

14

16

17

16

12

9

5

2

48

15

8

28

24

6

72

30

56

15

36

6

19

16

10

18

9

20

42

15

17

2

7

6

3

5

4

9

8

1

2

7

6

3

5

4

9

8

1

2

7

6

3

5

4

9

8

1

2

7

6

3

5

4

9

8

1

2

7

6

3

5

4

9

8

1

2

7

6

3

5

4

9

8

1

2

7

6

3

5

4

9

8

1

2

7

6

3

5

4

9

8

1

2

7

6

3

5

4

9

8

1

8.
[image: image8.wmf][image: image9.wmf]další zobrazení pro názornost
